1
Time: 35 Minutes Paper English 8 (T-1) Total Marks: 25
5th Month, 3rd Week, 6th Day
Syllabus: Revision Test (Week - 3)

Q.No.1. Choose the correct option. a3)
1. The jigsaw puzzle proved too difficult. The underlined verb is:

|(a)| action verb |(b)| helping verb |(c)| linking verb |(d)| auxiliary verbl

2. The subcontinent was called because of the fertility of the land.
|(a)|Golden Sparrowl(b)l Golden Cow |(c)| Golden Crow |(d)| Golden Parrot |
3. The meaning of "starvation" is:

|(a)| hunger |(b)| growing |(c)| tired |(d)| lost, destroyed |
4. The farmers are the of every society.

|(a)| backbone |(b)| heart |(c)| brain |(d)| body |
5. The antonym of the word "increase" is:

|(a)| decrease |(b)| dishonour |(c)| disrespected |(d)| barren |
6. The word "because" is a/an:

|(a)| adverb |(b)| adjective |(c)| pronoun |(d)| conjunction |

7. The meaning of "cultivating" is:

|(a)| hunger |(b)| growing |(c)| tired |(d)| lost, destroyed |
8. Ahmad's father is a/an:

| (a) | engineer |(b)| farmer | (c) | doctor |(d)| teacher |
9. She will visit her aunt tomorrow. The underlined verb is:

|(a)| action verb |(b)| helping verb |(c)| linking verb |(d)| auxiliary Verbl

10. Choose the correct spelling.
l@| fetility |®)] failiy  [©] fertelity |@| farelity |
Read the given paragraph and answer the given questions.

Many people have migrated to urban areas because of the tough living style of
village life. Not only this, the main profession or occupation of village is also
thought to be low paid profession, therefore, the number of farmers is decreasing
day by day.

11. Many people have migrated to areas.
| (a) | rural |(b)| plain | (c) | desert |(d)| urban |
12. The number of farmers is:

|(a)| increasing |(b)| decreasing |(c)|remaining same|(d)| equal |

13. Why have many people migrated to urban areas?

(a) due to bad weather (b) because of tough living style

() because of unemployment (d) lack of money
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Q.No.2. Answer these questions. @)
*  What do you understand by the title 'Dignity of Labour'?

* How may a country progress in the field of agriculture?

Q.No.3. Write whether the following sentences have a linking verb or an
action verb. ?2)

i. Alia is working in the hospital.

ii. He goes to school everyday.

iii. She will speak the truth.

iv. Hamid went to his room.

Q.No.4. Write a paragraph on "A House on Fire". 6)




